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Question Number One
A-
I~ sickness and hair loss
2- dementia, stoke and other brain damage
3- The new treatment works by blocking a protein which cancerous cells to grow,
4- MRI
5- neuroscientists
G- saall Lo gia ;i s
- there are a lot of health care centers, ‘.9’. uk
- increasing children immunisation, M
- increasing economic conditions
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- this is due to country's commitment to making health care for all people
- Advances in education, economic conditions, .. ..

B S alliakd A lass

B-
I- Manolin reassures Santiago that they will fish together again.
2- kind, loyal, thoughtful, caring person

Ouestion Number Two

A-

1- world wide web 2- migraine 3- renewable 4- handcrafis
B- 1 like to spend time learning foreign languages

C- 1- viable 2- criticise

Question Number Three
A- |- been thinking 2- aren't working 3- are viewed
B-

1- Safwan said that schools provided children with basic education.
2- My younger brother is used to using his electronic dictionary
3- the year when the Second world War ended in Europe was 1945

Question Number Four

A-

I- The 2- which 3- will have found

B-

I- the children are too late- the bus just left / left already.

2- Did you see Maram who attended a course in archeology”

Question Number Five

A- |-benefit 2- friendly 3- would have to 4- and nature ,

B- There are many ways to improve education such as expanding. .. and focusing. ..

In addition, there other ways to improve education like upgrading ... and
encouraging .
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